res AR RCHR 3P FE R RIMIEL
A - HE ol HR
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M & M &
= at 2Xt =4 3xt =4 SN = at 22Xt =4 33Xt =4 S

=P P 18,000 7,50 405 | A2t o124y 459,782 464,473 4,601
EES=PY EES=PY 946, 756 964,547 17,791 | A2Hl SEES N 2,400 2,250 A150
EXEPS EXEPS 85,350 105,640 20,290 | AR S| 23,504 27,579 4,075
meiz moiz 10,000 0,000 - | matzab) Al 3,300 6,400 3,100
olgz olgz 5,081 5,031 ~ | At At 247,110 073,354 06,244
&gl & agl 5 5 ~ | At S SmEINES Y] 134,808 134,504 £284
ArH| i 41,740 41,740 -

ArH| TojnHl= 3,110 36,110 -

At SopusEs 24,500 24,500 -

ArH| oSgoEeEe 91,880 91,880 -

olbIHI 2 JIEF | ofHIl 2 JIE 8 8 -

Mgl & 1,065, 142 1,102,818 37,676 ESSw] 1,065, 142 1,102,818 37,676
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